Home Learning M TH week 12

Monday - Week 9 lesson 1

Tuesday - Week 9 lesson 2

This is where this weeks videos

Summer Term - Week 9 (w/c 22nd June) _
will be

Summer Term - Week 8 (w/c 15th June)

Wednesday - Week 9 lesson 3

Thursday - Week 9 lesson 4

Friday - Catch up day

You will need to use this
link to access the videos

‘ https://whiterosemaths.com/homelearning/year-6/




Home Learning M TH week 12

This week, you will not be able to access the

worksheets online.
I have included them as a PDF file and are

accessible through the school website.

You will need to use this
link to access the videos

‘ https://whiterosemaths.com/homelearning/year-6/




Answers - Monday
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Area and perimeter
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ﬂ Wirork cut the areas and permmeters of the shapes.
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-ﬂ Weeork owt the areas and perimmeters of the shapes.
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If you start with a rectilinear
shape, when you increase
the area, the perimeter will

Tasmrry

It depends on
the shape.
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ﬁ Twna rectilinear shapes, & and B, each have an area of 12 squares.
= Shope A has the largest perimeter possible.
= Shope B has the smallest perimeter possible.

Drosw shapes A and B. 1 e @
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Wiheat do youw notioe? @

a MIr Fones beas S0 m oof fencing. @

He wwarnts o meake a rectilinear enclosure using all the ferncing.

al Drmes an exsample of o shope he could make. Gihve units on @
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b Wihot is the greotest possible area of the enclesure? | |15,

) Whoat is the srallest possible area of the encosure?




Tuesday

Area of a triungle (32) ﬂ wwhat mistoke hos Dora meade? @

To fend the area you do
F b+ 2 =21 on’

o Calcubote the area of the triomngle.
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a Lakel the bose of eoscdh triangle b
Laksel the perpendiculor height f
-ﬂ Coalcubate the aren of the triomgles.
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o Are the stotements abaags, sometirmes or mewver truse?

The side at the bottom of The perpendicular height is
a triangle s the base. egqual vo the vertical height
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Caloulate the area of the triamgles.
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a Firmd the area of the shoded region.
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ﬂ The area of eadh triangle = 12 cm’. Find the migsing lengths.
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Compare answers with a partner. @




Area of a parallelogram

Wednesday

ﬁ On oa piece of squared paper, copy ths parallelogrnom
arnd cut it owt.
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a) Create a rectongle by cwtting off the right-angled triangle and

b] Complete the sentenoss.
Thee aresa of the rectongle i SEPLICI e

Thee area of the parallelograrm is 5r.'|n.mres..
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-a Calcubaote the areas of the parallelograms.
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a Huan is findirneg the area of the parallelogram.

B am B Crr

1
10 crm

a) Whot mistake bos Hean ode 7
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b)) What is the correct answer?
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ﬂ Esthver hos labelled the bases and heights for four parallebogroms.

Three are correct; one is incaorrect. Tick the shapes thaat howve been

carrectly babelled.
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Explain to a partmer why one s inoosrmect.
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e Caloulate the areas of the parallelogroms.
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ﬂ Fird thee rmissimg lemgths.
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o Here iz a rhombus inside o rectangbe.
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a) Calcubate the area of the rfhvombus.
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Explain to a poartner wihvyg Mo s svrang.
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The area of the rhombus is half
the area of the rectangle. This
means that it & a special oriarngle.



ursday
Volume of a cuboid @

ﬂ Fired thee wolwme of the cubsoids.
Tou can moake therm wsith cubses if e helps
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o Caboulate the valurmes of the cubes. b} Drow two different cubaids that haowve a volums of 24 o’ .@
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o Thee wobeme of the culboid is &0 m?
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Was there another methad youw could hawve wsed? @
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